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Unit 2 Review - Secondary 1 Honors

Determine whether the following is a function. Explain why or why not?

1.

Dormain Range

|
|
J

Neg . Eltn eltimgut e
< h 1 henent

dtmﬂnmay

4.

v

NO.
Mls VLT

Determine if each set of ordered pairs is a funct
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ion or not, then state the domain and range.
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Find the average rate of change for the given interval.
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. or why not?
Determine whether the following is a function. EXI’lalnf“(,;cl)y-’= 2x-9
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Use f(x)-3x-4, g(x )=x'+5,& h(x -—5x+3 to answer questions 14-23.
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24. f(x)=-36 25.[8(7)= 1%
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Use the table to answer questions 29-32.
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Use the graph to the right to answer questions 33-37.
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f(x) 7x+6 & g(x)=2x+4 to answer questions 24-28.
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38. Describe the features of the graph below using SET BUILDER notation

Is this a function? \{e S Why? '\75(5%9 VLt

Domain: X& =\ ov ¥ > | Range:M
. iscrete
Continuity: (Circle one) ~ Continuous Discre

Increasing;_ X > \ Decreasing:_ X & —l_-————'/

Minimum: ?(43:—'-{ ‘\ 10)= -4 Maximum:_N_E‘,—f——/"”—'
& L X L

Positive: X < =4 o X > B Negative:_"_L;i_/i_ﬁ_,_’—L"‘x——i"_

x-intercept(s): £(4)=0 q""\)’/ 0 y-intercept(s): _MZ&-——/

39, Find the average rate of change for the
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. graph on the left on the interval [1,4].
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40. Describe the features of the graph below using SET BUILDER notation

y o
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41. Describe the features of the graph below using SET BUILDER notation

\ 8 51 Is this a function? MO Why? Fa\ IS VLT

Domainzwlz’—l—ibﬂ‘-hl )24 i
! Range:_§=2 —2,-1,0,1,24 342
' \ L ] 7 T R
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| Positive: %’“U}'@:“\,O} 'Z, "f% Negative: z"'@; "‘24,_2*; ?ﬂ?;
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Continuity: M Non-Continuous Discrete
Increasing:_("r(&“q) (‘110) (\[ﬂ) Decreasing:Eq}“Z) [/Oﬂ)

Minimum: E(’Z}}""{ Maximum: ?(ﬂ?l
Positive: 7:\ Negative:EWrL\) [ -—L‘]'}C;\
x-intercept(s): ? (-L\\:O y-intercept(s): P[o): ‘-|
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43,
Describe the features

of the function using
INTERVAL NOTATION.

Is this a function?_ Y E S
Domain: l‘:-: b, \7&)
Range: GDO ) l—}]
Continuity:
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Positive:E =¥ -2)
x-intercept(s): {:('7—):0
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44, Find the average rate of change for the graph above on the interval [—5, —2].

45. Describe the features of the function using INTERVAL NOTATION

[s this a function? \IEQ
Domain: r_:o | wj
Range:_E:!r ’6‘]
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cribe the features of the function using INTERVAL NOTATION
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47. Describe the features of the function using INTERVAL NOTATION

Is this a function? 86 Why? PQ§§€§ VLT 3';4;
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Create a graph that matches the given descriptions: CAMPLE

48. The function has an interceptat f(-5)=0. Aﬂswepg
The function has no minimum. (
The function increases from -5 to 2 and ’T\\f"e 0\‘6 WLQWj
decreases from 2 to infinity i
. A IS
, pose A
M A
P
N - -
nns

‘ 49. The function has a domain from -9 to 9.
The function has a range from -2 to 7
The function is non-continuous.
The function is positive between -9 to 3.
The function is negative from right after 3 to 9.
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MATCHING

50. The domain is 0 to infinity
The range is negative infinity to infinity.
The graph is continuous.

i
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A 51. The domain is from negative infinity to infinity.
The function has a y intercept at f(0)=3

The function is non-continuous.

’ The function never increases and never decreases.

= 6 52. The domain is negative infinity to infinity.
The graph is negative from negative infinity to .
The graph is always increasing,

C 53. The domain is -3 and 2.
The range is negative infinity to infinity.
The function has no min and no max
The function is non-continuous.

B 54. The domain is negative infinity to infinity.
The range is 0 to infinity.
The function has two increasing intervals.
The function has minimums at f(-3)=0 and f(1)=0.
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